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Special credit will be given for accuracy and relevance
in the answer. Marks will be deducted for incorrect
spelling, untidy work and illegible handwriting.
The weightage for each question has been
indicated in the margin.
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Answer any two questions.
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Critically discuss the features of New French
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Constitution prepared by the Constituent
Assembly in 1791.
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Do you think that the rule of directory
facilitated the rise of Nepoleon to power ?
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Explain the various phases of the Unification
Movement of Italy.
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Make an assessment of the foreign policy of
Kaizer William II.
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Answer any three questions.
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Write a short note on the nobility in pre-
revolutionary France.
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Discuss the background of the February
Revolution of 1848 in France. How would
you explain the failure of this revolution ?
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Discuss the process of industrialisation in

the United Germany.
SHifer Frei Crifeare AR s[elm FERE ?
How did Stalin reorganise Soviet Russia ?
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What was the 'Policy of appeasement' ? What

was the result of this policy ?
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Write a short note on the 'Fourteen Points' of
Woodrow Wilson.
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Answer any four questions.
‘BT (PICHR =9 T 2
What was the 'Tennis Court Oath' ?
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What was the importance of the Frankfurt
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Parliament in regard to the question of

German Unification ?
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What is 'Code Nepolean' ?
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How was the agricultural revolution related
to the Industrial Revolution in England ?
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How did Arnold Toynbee explain the

Industrial Revolution of England ?
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Mention the aims and provisions of

'Versailles Treaty'.
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Analyse the rise of the Nazi Party in

Germany.
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Write a note on the 'Locarno Pact'.
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